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HEAR%E
S et E S $10,000
B R EREE)E S kD) 555 BB T $30,000
S EETAEN
HEST $5,000
ESg = $5,000
BEEE $5,000
EE3E] $5,000
REX $5,000
Epe $20,000
EIETS $10,000
EIEES $5,000
B s $5,000
EEES $5,000
Tl $3,000
ESTyS $5,000
T $5,000
[2B%]
HEARZE
B eE TR T R R Es $10,000
B eETEREE ) eSS BB $30,000
SE
EEE $5,000
EPRE $5,000
S+ $10,000
ENE $15,000
FER $5,000
EEe $5,000
TR $30,000
(=15 $10,000
KB $5,000
EEYE $5,000
[SLEES $5,000
€=E2))
HEAm%E
Bl sEmikEE T s RE e Be $10,000
B eETEREE e DB BRI $30,000
S E
HES $5,000
BEEE $5,000
R $3,000
RSt $5,000
S[I5E $20,000




